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           PLAN VIEW          

SHEET  14 OF 18 SHEETS STA. 485+00   TO STA. 515+00    
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EXIST. CURVE EXCL3-20

PI STA. = 485+93.13

R = 2,625.70’

T = 200.12’

L = 399.46’

E = 7.61’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 483+93.01

P.T. STA. = 487+92.48

EXIST. CURVE EXCL3-21

PI STA. = 498+58.59

R = 2,980.41’

T = 200.07’

L = 399.53’

E = 6.71’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 496+58.52

P.T. STA. = 500+58.06
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EXIST. CURVE EXCL3-22

PI STA. = 501+58.86

R = 805.60’

T = 100.80’

L = 200.56’

E = 6.28’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 500+58.06

P.T. STA. = 502+58.62

EXIST. CURVE EXCL3-23

PI STA. = 508+16.84

R = 662.80’

T = 200.79’

L = 389.94’

E = 29.75’

e = _____ 

T.R. = _____ 

S.E. RUN = _____ 

P.C. STA. = 506+16.05

P.T. STA. = 510+05.99
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